



Partial Differential Equations — *Stability of evolution equations with small commutators in a Banach space*, by MICHAEL GIL', communicated on April 20, 2018.

ABSTRACT. — Let A be a generator of a C_0 -semigroup in a Banach space \mathcal{X} , and $B(t)$ ($t \geq 0$) be a variable bounded piece-wise strongly continuous operator in \mathcal{X} . We consider the equation $dy(t)/dt = (A + B(t))y(t)$ ($t \geq 0$). It is assumed that the commutator $K(t) = AB(t) - B(t)A$ is a bounded operator. Under that condition, exponential stability conditions are derived in terms of the commutator.

KEY WORDS: Banach space, linear differential equation, stability

MATHEMATICS SUBJECT CLASSIFICATION: 47D06, 35B35, 34G10

1. INTRODUCTION AND STATEMENT OF THE MAIN RESULT

Let \mathcal{X} be a Banach space with a norm $\|\cdot\|$ and the identity operator I . By $\mathcal{B}(\mathcal{X})$ the set of all bounded operators in \mathcal{X} is denoted. For a linear operator C , $\text{Dom}(C)$ is the domain. If $C \in \mathcal{B}(\mathcal{X})$, then $\|C\|$ is its operator norm.

Throughout this paper A is a generator of a C_0 -semigroup e^{At} on \mathcal{X} , and $B(t)$ ($t \geq 0$) is a variable bounded piece-wise strongly continuous operator mapping $\text{Dom}(A)$ into itself for each $t \geq 0$. We will investigate exponential stability conditions for the equation

$$(1.1) \quad \frac{dy(t)}{dt} = (A + B(t))y(t) \quad (t \geq 0).$$

It is assumed that the commutator $K(t) = AB(t) - B(t)A$ is uniformly bounded on $[0, \infty)$, i.e. the norms of $(AB(t) - BA(t))x$ ($x \in \text{Dom}(A)$, $\|x\| = 1$) are uniformly bounded. So $AB(t) - B(t)A$ can be extended to \mathcal{X} as a bounded operator. That extension is denoted by $K(t)$. Moreover,

$$(1.2) \quad \kappa := \sup_{t \geq 0} \|K(t)\| < \infty.$$

A solution to (1.1) for given $y_0 \in \text{Dom}(A)$ is a function $y : [0, \infty) \rightarrow \text{Dom}(A)$ having at each point $t > 0$ a strong derivative, at zero the right strong derivative, and satisfying (1.1) for all $t > 0$ and $y(0) = y_0$. Since $B(t)$ is bounded, maps the domain of A into itself, and A is a generator of a C_0 -semigroup, the existence, uniqueness and continuous dependence on initial vectors of solutions is due to the well-known Theorem II.3.4 [10].

Equation (1.1) is said to be exponentially stable, if there are positive constants M and ε , such that $\|y(t)\| \leq M \exp[-\varepsilon t] \|y(0)\|$ ($t \geq 0$) for any solution $y(t)$ of (1.1).

Equation (1.1) can be considered as the equation

$$(1.3) \quad \frac{dy(t)}{dt} = C(t)y(t)$$

with a variable linear operator $C(t)$. Observe that $C(t)$ in the considered case has a special form: it is the sum of operators A and $B(t)$. This fact allows us to use the information about the coefficients more completely than the theory of differential equations (1.3) containing an arbitrary operator $C(t)$.

The literature on stability theory of differentievolution equations in a Banach space is very rich, cf. [1]–[6], [11]–[14] and the references given therein, but to the best of our knowledge, stability conditions for equation (1.1) in terms of the commutator were not investigated. Note that equation (1.1) is usually considered as a perturbation of a stable semigroup generated by A (see e.g. [7, 8, 9], and references given in these papers). At the same time as we will see, stability conditions in terms of the commutator enable us to investigate equations with an unstable semigroup e^{At} . This fact, in particular, is important for stabilization of systems with distributed parameters.

Let $U_B(t, s)$ ($t \geq s \geq 0$) be the evolution operator of the equation

$$(1.4) \quad \dot{u}(t) = B(t)u(t) \quad (t \geq 0).$$

Suppose that there are constants $c_0 \geq 1$ and $b_0 \in \mathbb{R}$, such that

$$(1.5) \quad \|U_B(t, s)\| \leq c_0 \exp[b_0(t - s)] \quad (t \geq s \geq 0).$$

Now we are in a position to formulate the main result of the paper.

THEOREM 1.1. *Let conditions (1.2) and (1.5) hold, and the operator $A + b_0I$ generate an exponentially stable semigroup $e^{(A+b_0I)t}$. In addition, let*

$$(1.6) \quad \zeta := \kappa c_0 \left(\int_0^\infty \|e^{(A+b_0I)t}\| dt \right)^2 < 1.$$

Then equation (1.1) is exponentially stable.

This theorem is proved in the next section. It is sharp: if $B(t)f = b_0f$ ($f \in \mathcal{X}$), then $\zeta = 0$ and Theorem 1.1 gives us necessary and sufficient exponential stability conditions for (1.1): $e^{(A+b_0I)t}$ should be exponentially stable.

2. PROOF OF THEOREM 1.1

Put $[e^{At}, B(r)] := e^{tA}B(r) - B(r)e^{At}$.

LEMMA 2.1. *Let A generate a C_0 -semigroup e^{At} , $B(r) \in \mathcal{B}(\mathcal{X})$ ($r \geq 0$) map $\text{Dom}(A)$ into itself and condition (1.2) hold. Then for all $r, t \geq 0$ the operator $[e^{At}, B(r)] := e^{tA}B(r) - B(r)e^{At}$ is bounded and*

$$[e^{At}, B(r)] = \int_0^t e^{sA}K(r)e^{(t-s)A} ds.$$

Moreover, $[e^{At}, B(r)]$ maps $\text{Dom}(A)$ into itself.

PROOF. On $\text{Dom}(A)$ we have

$$\begin{aligned} \int_0^t e^{sA}K(r)e^{(t-s)A} ds &= \int_0^t e^{sA}(AB(r) - B(r)A)e^{(t-s)A} ds \\ &= \int_0^t (e^{sA}AB(r)e^{(t-s)A} - e^{sA}B(r)Ae^{(t-s)A}) ds \\ &= \int_0^t \left(\frac{\partial}{\partial s} e^{sA}B(r)e^{(t-s)A} + e^{sA}B(r) \frac{\partial}{\partial s} e^{(t-s)A} \right) ds \\ &= \int_0^t \frac{\partial}{\partial s} (e^{sA}B(r)e^{(t-s)A}) ds = e^{sA}B(r)e^{(t-s)A} \Big|_{s=0}^t \\ &= e^{At}B(r) - B(r)e^{At}. \end{aligned}$$

Since the operator $\int_0^t e^{sA}K(r)e^{(t-s)A} ds$ is bounded, and $B(r)$ maps $\text{Dom}(A)$ into itself, we get the required result. □

Denote by $X(t, s)$ the evolution operator of (1.1) and put $Y(t, s) = e^{A(t-s)}U_B(t, s)$, and

$$\|Z\|_C := \sup_{t \geq s \geq 0} \|Z(t, s)\|$$

for an operator function $Z(t, s)$ uniformly bounded on $0 \leq s \leq t < \infty$.

LEMMA 2.2. *With the notation $F(t, s) := [e^{A(t-s)}, B(t)]U_B(t, s)$ ($t \geq s \geq 0$), let $\|Y\|_C < \infty$ and*

$$(2.1) \quad \gamma(F) := \sup_s \int_s^\infty \|F(t, s)\| dt < 1.$$

Then

$$(2.2) \quad \|X\|_C \leq \frac{\|Y\|_C}{1 - \gamma(F)}$$

and

$$(2.3) \quad \|X - Y\|_C \leq \frac{\gamma(F)\|Y\|_C}{1 - \gamma(F)}.$$

PROOF. Note that

$$(2.4) \quad \frac{dX(t,s)h}{dt} = (A + B(t))X(t,s)h \quad (h \in \text{Dom}(A))$$

and

$$(2.5) \quad \begin{aligned} \frac{dY(t,s)h}{dt} &= (Ae^{A(t-s)}U_B(t,s) + e^{A(t-s)}B(t)U_B(t,s))h \\ &= ((A + B(t))e^{A(t-s)}U_B(t,s) + e^{A(t-s)}B(t)U_B(t,s) \\ &\quad - B(t)e^{A(t-s)}U_B(t,s))h \\ &= (A + B(t))Y(t,s)h + F(t,s)h \quad (h \in \text{Dom}(A)). \end{aligned}$$

Due to Lemma 2.1, operator $F(t,s)$ is bounded for all finite t, s and maps $\text{Dom}(A)$ into itself. Subtracting (2.4) from (2.5), on $\text{Dom}(A)$ we get

$$(2.6) \quad \frac{d(Y(t) - X(t))}{dt} = (A + B(t))(Y(t,s) - X(t,s)) + F(t,s).$$

By the differentiation we obtain

$$(Y(t,s) - X(t,s))h = \int_s^t X(t,s_1)F(s_1,s)h ds_1 \quad (h \in \text{Dom}(A)).$$

Since $\text{Dom}(A)$ is dense, and $Y(t,s)$, $X(t,s)$ and $F(t,s)$ are bounded, we can write

$$Y(t,s) - X(t,s) = \int_s^t X(t,s_1)F(s_1,s) ds_1.$$

Consequently,

$$(2.7) \quad \|Y(t,s) - X(t,s)\| \leq \int_s^t \|X(t,s_1)\| \|F(s_1,s)\| ds_1,$$

and therefore,

$$(2.8) \quad \|X(t,s)\| \leq \|Y(t,s)\| + \int_s^t \|X(t,s_1)\| \|F(s_1,s)\| ds_1.$$

Hence, for any finite $t > s$ we obtain

$$\sup_{0 \leq s \leq v \leq t} \|X(v,s)\| \leq \|Y\|_C + \sup_{0 \leq s \leq v \leq t} \|X(v,s)\| \gamma(F).$$

Now (2.1) implies

$$(2.9) \quad \sup_{0 \leq s \leq v \leq t} \|X(v, s)\| \leq \|Y\|_C / (1 - \gamma(F)).$$

This proves (2.2). From (2.7) and (2.2), inequality (2.3) follows. This proves the lemma. \square

PROOF OF THEOREM 1.1. By Lemma 2.1,

$$\begin{aligned} \|F(t, s)\| &\leq \| [e^{A(t-s)}, B(t)] \| \|U_B(t, s)\| \\ &\leq \kappa \|U_B(t, s)\| \int_s^t \|e^{A(v-s)}\| \|e^{A(t-v)}\| dv. \end{aligned}$$

Hence,

$$\int_s^\infty \|F(t, s)\| dt \leq \hat{\gamma}(s),$$

where

$$\hat{\gamma}(s) := \kappa \int_s^\infty \|U_B(t, s)\| \int_s^t \|e^{A(v-s)}\| \|e^{A(t-v)}\| dv dt.$$

So $\gamma(F) \leq \sup_s \hat{\gamma}(s)$. From (1.5) and stability of $e^{(A+b_0I)t}$ it follows $\|Y\|_C < \infty$ and

$$\begin{aligned} \hat{\gamma}(s) &\leq \kappa c_0 \int_s^\infty e^{b_0(t-s)} \int_s^t \|e^{A(t-v)}\| \|e^{A(v-s)}\| dv dt \\ &= \kappa c_0 \int_s^\infty \|e^{A(v-s)}\| \int_v^\infty \|e^{A(t-v)}\| e^{b_0(t-s)} dt dv \\ &= \kappa c_0 \int_s^\infty \|e^{A(v-s)}\| \int_0^\infty \|e^{At_1}\| e^{b_0(t_1+v-s)} dt_1 dv \\ &= \int_s^\infty \|e^{(A+b_0I)(v-s)}\| dv \int_0^\infty \|e^{(A+b_0I)t_1}\| dt_1. \end{aligned}$$

Thus

$$\gamma(F) \leq \kappa c_0 \|e^{(A+b_0I)t}\|_{L^1(0, \infty)}^2.$$

Here

$$\|e^{(A+b_0I)t}\|_{L^1(0, \infty)} = \int_0^\infty \|e^{(A+b_0I)t}\| dt.$$

Now (1.6) and Lemma 2.2 prove relations (2.2) and (2.3). Inequality (2.2) means that (1.1) is Lyapunov stable. Furthermore, substitute

$$(2.10) \quad y(t) = u_\varepsilon(t)e^{-\varepsilon t} \quad (\varepsilon > 0)$$

into (1.1). Then

$$(2.11) \quad du_\varepsilon(t)/dt = (A + B(t) + \varepsilon I)u_\varepsilon(t).$$

If ε is small enough, then conditions (1.2), (1.5) and (1.6) hold with $B(t) + \varepsilon I$ instead of $B(t)$.

Applying our above arguments to equation (2.11) we can assert that (2.11) is Lyapunov stable. So due to (2.10) equation (1.1) is exponentially stable. This proves the theorem. \square

3. EXAMPLE

Consider the problem

$$(3.1) \quad \frac{\partial}{\partial t} u = \frac{\partial^2 u}{\partial x^2} + T(x)u + M(t)u \quad (u = u(t, x), 0 < x < 1),$$

$$(3.2) \quad u(t, 0) = u(t, 1) = 0 \quad (t > 0),$$

where $T(x)$ is a twice continuously differentiable in x $n \times n$ -matrix function defined on $[0, 1]$; $M(t)$ is a piece-wise continuous $n \times n$ -matrix, independent of x and uniformly bounded on $[0, \infty)$.

Take $\mathcal{X} = L^2([0, 1]; \mathbb{C}^n)$ – the Hilbert space of n -vector valued functions defined on $[0, 1]$ with the scalar product

$$(v, w) = \int_0^1 (v(x), w(x))_n dx \quad (v, w \in L^2([0, 1]; \mathbb{C}^n)),$$

where $(\cdot, \cdot)_n$ is the scalar product in \mathbb{C}^n . For brevity put $L^2([0, 1]; \mathbb{C}^n) = L_n^2$. Take

$$(Af)(x) = f''(x) + T(x)f(x) \quad \text{and} \quad (B(t)f)(x) = M(t)f(x) \\ (f \in \text{Dom}(A); 0 \leq x \leq 1, t \geq 0)$$

with

$$\text{Dom}(A) = \{h \in L_n^2 : h'' \in L_n^2, h(0) = h(1) = 0\}.$$

Then $K(t) = T(x)M(t) - M(t)T(x)$ and

$$\kappa = \sup_t \|K(t)\| = \sup_{x,t} \|T(x)M(t) - M(t)T(x)\|_n.$$

Here $\|\cdot\| = \sqrt{(\cdot, \cdot)}$ is the norm in L_n^2 and $\|\cdot\|_n$ is the norm in \mathbb{C}^n . Simple calculations show that $\|e^{At}\| \leq \exp[-(\pi - \Lambda(T))t]$ ($t \geq 0$), where

$$\Lambda(T) := \sup_x \sup_{h \in \mathbb{C}^n} \Re(T(x)h, h)_n / (h, h)_n.$$

Assume that the evolution operator $U_M(t, s)$ of the matrix differential equation

$$\dot{v}(t) = M(t)v(t) \quad (t \geq 0)$$

satisfies the inequality

$$(3.3) \quad \|U_M(t, s)\|_n \leq c_0 \exp[b_0(t - s)] \quad (t \geq s \geq 0).$$

Then condition (1.5) holds. If, in addition,

$$(3.4) \quad \pi - \Lambda(T) - b_0 > 0,$$

then

$$\int_0^\infty e^{-(\pi - \Lambda(T) - b_0)t} dt = \frac{1}{\pi - \Lambda(T) - b_0}.$$

Now Theorem 1.1 implies the following result.

Let the conditions (3.3), (3.4) and

$$\frac{\kappa c_0}{(\pi - \Lambda(T) - b_0)^2} < 1$$

hold. Then equation (3.1) is exponentially stable.

REFERENCES

- [1] F. ALABAU - P. CANNARSA - V. KOMORNIK, *Indirect internal stabilization of weakly coupled evolution equations*, J. Evol. Equ. 2(2) (2002), 127–150.
- [2] C. CHICONE - YU. LATUSHKIN, *Evolution Semigroups in Dynamical Systems and Differential Equations*, Amer. Math. Soc., Math. Surv. and Monographs 70, 1999.
- [3] A. CIALDEA - F. LANZARA, *Stability of solutions of evolution equations*, Rend. Lincei Mat. Appl. 24 (2013), 451–469.
- [4] R. CURTAIN - J. OOSTVEEN, *Necessary and sufficient conditions for strong stability of distributed parameter systems*, Systems & Control Letters 37 (1999), 11–18.
- [5] V. DRAGAN - T. MOROZAN, *Criteria for exponential stability of linear differential equations with positive evolution on ordered Banach spaces*, IMA Journal of Mathematical Control and Information 27 (2010), 267–307.
- [6] N. FOURRIER - I. LASIECKA, *Regularity and stability of a wave equation with a strong damping and dynamic boundary conditions*, Evol. Equ. Control Theory 2(4) (2013), 631–667.

- [7] M. I. GIL', *Stability of linear evolution equations in lattice normed spaces*, *Zeitschrift für Analysis* 15(4) (1996), 949–959.
- [8] M. I. GIL', *Freezing method for evolution equations*, *Communications in Applied Analysis* 1(2) (1996), 245–256.
- [9] M. I. GIL', *Integrally small perturbations of semigroups and stability of partial differential equations*, *International Journal of Partial Differential Equations*, 2013 (2013), Article ID 207581, 5 pages.
- [10] S. G. KREIN, *Linear Equations in a Banach Space*, Amer. Math. Soc., Providence, RI, 1971.
- [11] H. LAASRI - O. EL-MENNAOUI, *Stability for non-autonomous linear evolution equations with L_p -maximal regularity*, *Czechoslovak Mathematical Journal* 63(138) (2013), 887–908.
- [12] S. NICAISE, *Convergence and stability analyses of hierarchic models of dissipative second order evolution equations*, *Collect. Math.* 68(3) (2017), 433–462.
- [13] J. OOSTVEEN, *Strongly Stabilizable Distributed Parameter Systems*, SIAM, *Frontiers in Applied Mathematics*, Philadelphia, 2000.
- [14] P. PUCCI - J. P. SERRIN, *Asymptotic stability for nonautonomous wave equation*, *Comm. Pure Appl. Math.* XLXX (1996), 177–216.

Received 27 October 2017,
and in revised form 18 March 2018.

Michael Gil'
Department of Mathematics
Ben Gurion University of the Negev
P.O. Box 653
Beer-Sheva 84105, Israel
gilmi@bezeqint.net